
®

PART. F3461B 10/08-01 - AP

1

2

Istruzioni d’uso
Gebrauchanweisungen
Notice d’emploi
Instruction sheet
Instrucciones de uso
Gebruiksaanwijzing
Instruçoes para o uso
Odhgìez Xrçshz

x 6
M6 x 12
x 12

2b / 3b

91850/6SV
91850/8SV

91840/3PSH
91840/6PSH

91850/6CS
91850/8CS

91850/6SV
91850/8SV

91850/2SE
91850/3SE
91850/4SE

91850/6SV
91850/8SV

91850/6CS
91850/8CS

91840/3PSH
91840/6PSH

91850/2SE
91850/3SE
91850/4SE



3

H = 200

H =
300

1600 A

H = 200 mm

H

4000 A

H = 300 mm

2b /3b

x 10

M6 x 12
x 14

91850/6CS
91850/8CS

-
H

m
m

52



4

5

1600 A

H = 200 mm

H

4000 A

H = 300 mm

2b /3b

x 2
M6 x 12
x 2

3b
91840/SS



6

7

H

(mm)

200

300

400

2b /3b

x 2 M6 x 12
x 2

2b / 3b

600

mm
850

mm

x 8

M6 x 12
x 16

91840/3PSH
91840/6PSH

91840/3PSH 91840/6PSH

91850/2SE

91850/3SE

91850/4SE

002

mm003

91850/2SE
91850/3SE
91850/4SE

10
00

x 2

x 8

10
00


